FIAFBEERLIEYEF S T g, 0

(;1%,:) ﬂ&éii%—t’"‘ 18%{§a‘&z“t,€i£g’i LB 6 A o3t ¥ ,% SRR
PR B EAR BRI Ep L k- A4 2 (2007 27 7 18 p)

S ISR AT~ 2 i

10
20
30
40
50
60
70
80

U1 0 O N ©
~NOoO AN b~ O
~ O © 01 0o 0
g1 W K Ol
(6]

1. A grM, 555 SR H 2 (A)AL 5 (B)42 ; (C)45 5 (D)46 ; (E)4T -

(=] (E)
N=25i=5$x25+05=13 » M, =x,=47 » 3 (E) «

2. HPUTEREEH CIQR ) T MYl ? (A)20 5 (B)22 5 (C)24 5 (D)26 ;5 (E)28 -

[i#]) (B) § (D)
N=25i=1x25+05=6.75 " Q=X7;5=% =38 : ¢
N=25 1 i=3x25+0.5=19.25 » Q; =Xy = X =60 :
IQR=Q,-Q, =60-38=22 - 3 (B)-

TP E R
Xs +X, 35+38
i=6.75 » Q=28"%_
R 2 2
i=19.25 » Q, = XN;XZO =GO;65=62.5

IQR=Q,-Q,=625-36.5=26 - 3 (D)~

=36.5

0 UGS - 4 Py
2 3
y 6 4 3 5

3. y[ORA RS T P H 2 (A0 (B)L: (C)2: (D)3 (E)4 -

(] (C)
X y X2 y2 Xy
2 6 4 36 12
3 4 9 16 12
5 3 25 9 15
6 5 36 25 30
16 18 74 86 69



o Y —(3y)'/n _86-(18)'/4

( =1.6667
Y n-1 4-1

4. x -~ yElfﬂfElF%[’%FEI’rr BB H 2 (A)-0.8: (B)-0.6; (C)-0.4; (D)-0.2; (E) -

(=] (C)

=xy —(2x)(Zy)/n 69— (16x18)/4
= ~-0.4243
\/ZX —(2x) /nyfzy? = (zy)’/n  \[74-(16) /4|86 (18) /4
5. WEFRIPUHIEEM, =12 » T 19 =8 » [MEOLE AL REM, s °

(2] 20
PR (] BRI 12 ¢
M, =M, +2x|M, — g =12+ 2x[12-8| = 20

6. SAEFIHRE| 64 fF IS > UG 1 60 51 » R 5 5T o ¥ TR LB )
HIIZ 75 60 55~80 75 #F| .

(2] 30
(SR PN RS
80-60
_po-s_, P(60< X <80)=2xP(40< X sso)zl(l—izj:E
2 27 4) 32

— e, 19 .
=PE §x64 30 jL|—f|J

7. At a certain college, 20 percent of the men and 1 percent of the women are orver six feet tall.
Furthermore, 40 percent of the students are women. If a student is randomly picked and is
observed to be over 6 feet tall, the probability that the student is a men is
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12. Afederal study reported that 10 percent of the U.S. workforce has a drug problem. A drug
enforcement official for the States of Indiana wished to investigate the statement. In his
sample of 6 employed workers: Then, the likelihood that none of the workers sampled has a
drug problem is
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